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QUESTION BOOKLET FOR Matric LEVEL EXAM

SESSION 2™

Time Allowed: Two Hours (120 Minutes) i )
Total Marks: 100 Booklet Number: 10 5562

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
| THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
! OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOK.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

3. You have to enter your Name, Email Id and Mobile No. on the test booklet in the Box provided
alongside. DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 100 items (questions). Each item is printed in English. Each item

comprises four responses (answers). You will select the response which you want to mark on the
/ Answer Sheet. In any case, choose ONLY ONE response for each item.

5...You have to mark all your responses ONLY on the separate Answer Sheet (OMR Sheet)
provided.See directions in the Answer Sheet.

——— .,

6. Allitems carry equal marks.
7. Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilatoronly the Answer Sheet. You are
permitted to take away with you the Test Booklet.

To————

9. Sheets for rough work are appended in the Test Booklet at the end.

e

'*- 10. Penalty for wrong answers:
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE:

(iv] There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-fourth (0.25) of the marks assigned
to that question will be deducted as penalty.

(v) If a candidate gives more than one answer, it will be treated as wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to

that question.
{vi) If a question is left bank i.e., no answer is given by the candidate, there will be no

penalty for that question.
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*’;\\L-/Wﬁ‘ig;f the following countries share a
t'& land border with India?

a) lran

' B) Myanmar

anka = , (/

’Z:&&f"’“ ¢) Bangladesh

9. Whicﬁ country is located to the south of
India?
a)- ‘Pakistan

_«'b) Bhutan
o) B Y

<€) 8n
\3 Maldives B d) Sri Lanka L7
Ok Wnich of the following rivers flow through 10. in which year did Indian Cricket team win
‘lnd:a? last 50 over's World Cup?
Nile -ay 2007
; b) Amazo ,,’”b) 2011
. ¢ 2015 5|
None L/ d) 1983 L/
———
t is the currency of Japan? 11. What is the capital of the Indian state
Euro Karnataka?
P b) Yen -+ | a) Chennai
c) Dollar [/ b) Hyderabad
- d) Pound c) Thiruvananthapuram
; : d) Bengaluru
. Who wrote the Indian national song- Vade
j Mataram? 12. Which Indian state has the largest forest
‘ @) Rabindranath Jagore 2 cover in the country?
b) Mahat C/ a) Madhya Pradesh
.~ ¢) Bankimthardra-Chatterji : by Arunachal Pradesh -
d) Subhast Chandra Bose c) Andhra Pradesh e
. d) Rajasthan
5 Kanchenjunga is situated in which state?
, /‘b) LSJt't(irakhand 13. The smallest planet of the
: IKKIM solar system is: a
> , c) Jammu and Kashmir J(t‘_/ a) Jupl)t,er i, (wfﬁ
P d) Arunachal Pradesh By Mars ,,\ -
- ¢) Mercury L/
6. Who is the first Indian to win an individual d) Vvenus

gold medal in the Olympics?
&) Abhinav Bindra

/ " _#b) PV Sindhu_ )
I c) Sushil Kumar
: _ d) !;(am’amMalleswari

7.7 VGhich of the following is a national bird of

<" India?
L

L

-

. a) Eagle
_«¥) Peacock X\
~ @) Pigeon

” d) Black necked crane

1(8 Who is the author of the book "The
Discovery of India"?

a) . Jawaharlal Nehru A
i bj Mahatma Gandhi

"'¢) Rabindranath Tagore
“Sarojini Naidu

e

[/

14. Who was the first woman
President of Indian
National Congress: -/

a) Kasturba Gandhi
®) Saropm Naidé
c) Annie > Besant.

d) ArunaAli

L/

15. The preamble to our
constitution makes no
mention of:

a) Justice
b} Fraternity 1
¢) Equality of Status
d) Adult franchise
N —

The unit of heredity in our body is called —
a) Chromosome
b} DNA

~6 Ge
M%N'ﬂlgeus
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17. What is the full form of SIM?

25. Blue revolution is related
a) Subgcriber Identity Module to?
b} Solo Identification Module a) Fish Production
¢) School Identity mode b) Milk Production
d) None of the above. c) Cherry Production
d)Wheat Production 1
18. Which of the following is ,
the capital of Manipur?
a) Manipuri 26. Find the number of triangles in the given
. b) imphal ~ figure.
w20 % c) Gangtok Fa )
0% Yd) imphal ' O Yo
§ AN
(.+  19.Whatis the minimum age R e
i for becoming President of : LI
- India? '\}}‘
~~a) 30years ~a) 12
.« 8) 35years " B) 16
’ﬁ, €) 40 years .l / e al c).8 4 + | [/
s d) 60 years d) 9
20. Which scientist gave ‘Laws of motion'? 2. |dentify the figure that compistes the
a)~ Galileo patter.
_#“b) Newton
=" ¢) Einstein 59(
d) Boyle

21. Atomic Mass number of an atom gives the
number of which of the following?

) Electrons plus protons
4 b) Protons

VAL R \J
N § 8 ®

) (?\ W3) (4}

a) 1
%  ¢) Neutrons 9{*\ bY 2 —\
i @) Neutrons and Protons t/ c) 3 P
d) 4
22. Which of the following is the largest
National Park in India? 28. What is the next number in the series: 8,
a) Hemis National Park 16,32,64, _ 7
b) Jim Corbett National Park % 122
c) Kazirang National Park B) 128
d) Gir National Park ™ > c) 100 \ \/
d) 72 .
23. Which of the following countries is not the (¥
member of G-207? 29. Identify the figure that completes the
a)"’lndia pattern.
_#b) Russia b = :
&,ﬁ"# Q) Singapore *\ lﬁ/ \} fa bb
d) Turke J b _
AT LN = Py
24. Which of the following is the brain of the |\ ” 0 @) = @)
computer? ";YY
y. Central Processing Unit -4 | \ / s3) 1
A b) Memory e b) 2
j c) Arithmetic and Logic unit . g o 3 \ \/
' d) Controi unit e § 4 4
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30.

31.

32

33

34.

/

-

/_,;"’ 25 . .

Vinod is the grandfather of Ri iya i

: ya. Riya
dgug_!wter of Nikhil. Gauri is the wife-j of e
Nikhii. Sohan is the brother of Nikhil. How

is Sohan related to Riya?

a) Father's father v. (@
b) Brother v
c) Father's brother

d) Son &

A can paint a house in 18 days and B ca

qo {t in 36 days. Along with C!,( they did thg
job in 6 days only. Then in how many days
C alone can to the job? '
a) 8

b) 9

c) 10

d) 12

Amar sells his TV ata rate of Rs. 1540 and
bears a loss 30%. At what rate should he
sell his TV so that he gains a profit of 30%7
a) Rs. 2920

b) Rs. 2480

c) Rs. 2680

d) Rs. 2860

sible two-digit numbers can

How many pos
e digits 3. 5 and 77

be formed by using th
a) 10
b) 9
c) 7
dy 8

Different faces of the same di
displayed.
What is the nu
'3'?

ce are

mber against the number

TR (i)

a) 2
b) 1
e 4

d) 5 4
5/( CP-(N/'

~ 37.40is related t

3/5 Choose the alternative which is closely
resembles the water-image of the given

combination
monday
(1y yadnom (2) Ysbnom
(3) Aequow (a) wouqeA
a) 1
b) 2
5 3 vy [
d) 4 o

36. Count the number of parallelogram in the
given figure.

v/

a) 20
by 18
c) 16
dy 12

L

o 160 following @ certain
logic. Following the same logic, 120 is
related to 480. To which of the following is
1200 related, following the same logic?

a) 200
b) 300
c) 400
d) 600

owing diagram and try to

38. Study the foll
stion accordingly.

answer the que

Which number indicates a tall Indian but



39.Eight girls M, N.O, P. Q. R, S and T are

40.

41

43,

Sitting around a circle facing towards the
centre. Only three friends are sitting
between P and S. M is sitting to the
immediate right of S and to the immediate
left of R. Only N is sitting between S and O.
P 1s sitting second to the left of 0.

Who is sitting second to the left of P2

N

b) M
c) S v
d) R

A man walks 1km to east and then he turns
to south and walks §km. Again he turns to
east and walks 2km. After this he turns to
north and walks 9km. Now, how far is he
from his starting point? —

a) 3km

b) 4km

c) 5km

d) 7km

- Read the given information carefully and
answer the question that follows:

related to Y?
a) Granddaughter v
b) Daughter
c) Sister P
&) None of the above Qe

: : ong the
given options that can replace the question

mark (?) in the following series.

BZC, EXF, HVI, KTL 7> A 4
a) ONR

b) MOR
¢) NRO.~ "

d) ORN Y

Pointing towards a Person in the
photograph, Vikram said, * he is the son's
son of my wife's father—in-law. Sameer

Vikram? .
a) Brother “
®) Nephew
€) Son ~— _
d) Father

44 Select the option that is related to the thirg

term in the same way as the second term
is refated to the first term.
KDP: MFR :: HJT : ?
3) KLV
b) JKV = s
¢) JV _y a
d) Jiu
4.5. ‘Chef’ is related to 'Kitchen' in the same
way as ‘teacher’ is related to :
Principal
b) Subject
c) Education
d) Classroom

46. Select the correct option that indicates the
arrangement of the following words in a
logical order.

1.
2.
3.
4.
5.

a)
b)
C)
d)

Century
Month
Year
Decade
Millennium

51,342
54,132
51432
15423 .

«
ot
“
AT
”

42. Select the letter-cluster from am

47. Select the combinatio
Sequentially placed in
given series will comp

n of letters that when
the blanks of the
lete the series.

U__A_C__K_BA__C C_U_AA ck

a) BACUAKBC
b) BACKAKBC
() BAUUAKBC
d) BACUAKAK

1 Pragmatics

2. Problematic
3. Practicing

4, Precipitancy
5.Probabi|istic
6. Precession

1 ] *

3,
1,
v 1,
3

L3

L]
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49.

50.

51.

52. The product of two

2400. If one of the num
other number, then the sum of both ar
numbers is: _ he would lose 25%. To gain 25%‘.{r1e
a) 120 should sell it for: '?f Lo /‘l,}‘{
140 P \/ a) 1200 éi fal
c) 130 4o p) 1000 & 0 L7
d) 100 c) 960 1 Lo
d) 900 8
53.1f 23 is added to @ number, weé get 9 lesS _ o
than 5 times of this number. What is the 59. Pel_'lmeter of the square with side-length
number? ‘a’ is:
a) 7 a) 2a
b) 8 b) 4a 50
c) 6 c) aé2 1y @
d) 9 d) a -l
; 6 {0 VMUO
54. Solve the following equation. 60. \;thazt is (8+24+4x3) ) «}/‘%
: . .
T b) 20 W
1 c) 24 A >
d) 26 %
7 Vv 1
61. The number 10x8+8 In usual form is. MYO
a) 88 1A
14 b) 87 ﬂ}oo/
NI c) 78 v K g
a) 2 41, *ff d) 120 4,0 . A
b) 4 M 4] g T
3 8 o v w0
’ pgc@er/@ H;ﬁjﬁ%%% e
pa RS Th Y X Z
: Dondit -5 -
_-1
P -S ion!ﬁa-—s sB

Ina certain code language, ' i
written as '‘PUBOGR' ancgj TI\EKN)E)/?FI{ "
written as ZKTJKX'. How will 'STRINl(s;'
written in that language? -
a) HGIRMT

b) YZXOTM

c) HNICMA

d) HIGRMT

If NOIDA is written as

will be the code for DE?.E!]I'EB‘ i
a) EFMAK

b) EFAMK

c) EFMU

d) EFMIK

Solve the following equation:
28:7x5+Bx4:2-1=

a) 36 \v e =

b) 35 i

C) 32 \\‘(VS /. * X

d) 40 Y ao

positive numbers is

bers is six times the

55. A sold an article to B at a profit of 26%. B
Y850 loas v e A I C paid R
' . then how : : :
2) Rs 1480 much did A pay for it?
b) Rs 1,990
c) Rs 1,500
d) Rs 1,100

56. If the towo angles in a triangle ABC are:
/A=30°,,B=90". Then what is the angle

ZC7?

a) 50°

b) 60° &
c) 30°

80°

umber by which

57. What is the greatest n
e divided, the

when 166, 150 and 134 ar
remainder in each case IS 67
a) 24
b) 16
c) 26
d) 25

58. If a man was to sell his chair for Rs. 720,




62. The present population of a town is 35000.
If the population increases at the rate of
10% per annum in the next 3 years, then

what will be the population after 3 years?
a) 42350

by 46585
c) 48684 By
d) 52643 |

63. 18 books weigh 6kg. What wiil 6 books
weigh? :
a) 1.2kg

b) 2kg -
c) 3.8kg e ) L/
d) 3kg
64. 6 gm of saffron costs Rs 36. What will 10
‘Aut gmcost?
& a) Rs 30
7x b) Rs 48

c) Rs50 .
d) Rs60 | 'L/))p o 4
65. The perimeter of a square is 64 m. what is
its side?
a) 10m-_
b) 16m 4 L/
~¢) 12m u%
d 8m !

66. The ratio of boys to girls in a school having
1440 students is 3:5. Thirty girls were
shifted to the other branch of the school.
How many more boys should be admitted
to the school to make this ratio 2:3?

a) 40 o
by 35 & b
c) 45 o)
d) 32

67. Find the greatest 5-digit number divisible

by 15.
A

a) 99975

) 99999

c) 99996

d) 99998
68. A man saves Rs. 8000 per month from his

salary. He spends 75% of his salary each
month. What is his monthly salary(in Rs)?
a) 32,000

b) 3.20,200 3 0 ”

q/g,sa,ooo ‘ " )

d) 28000 . ’ ; 7

) | 5 /\‘p/\
W
[e]-Se§§e§an

69 1/5 of which of the following numbers is
207
a) 80
b) 60 ™
€y 100 4, ™
d) 50 ]

70. which of the following numbers is not
divisible by 5?
aj 107 =
b) 45

C) 9 0 A_. l ‘:“:?m‘:‘.,- L
d) 120

71. What is (27+3x2-6)

By 27 .
b) 12 6;1/75
i g A2
d) -9 .
A
72. What is square root of 7297
a) 23
by 27 b o
c) 29 e
d) 19

73. The generalised form of number 89 is:
ay 10x8+9
b} 10x9 o
c) 9x10 e’
d) 10x9+8

"

74. Which of the following numbers is not
divisible by 37

8 ’_,af”f
c) 21 +
d) 24 -

75. The perimeter of a rectangle is 60 m. If its
length is 20 m., its breadth is ?
a) 5m
b) 10m
c) 15m
H3m '




76. Select the correct passt
following: Al
He spent all his fre
> _ e time
) c;::;:k:; with his friends playing
a of his free time was .
L3 s ‘
LJ)}/::{ncket with his friends peri Piayag
“He is spending all his fr ' ‘
cricket )Nith his friends. s
c) All of his free time was being spent
playlng. cricket with his friends.
d) AI! of his free time is spent playing
cricket with his friends.

77. Which of the followi is wri
oyt voice?mg sentences is written
; he music is played by me.
b) | play music.
c) The music will be played by me.
d) The music is being played by me.

e error in the given sentence:
the enemies (1)/
ir bunker.(3)/

78. Spot th
The helicopter of
hovered exact (2)/ over the
No Error (4)

a) 1
b) 2
c) 3
d) 4

79. Select the most appropriate antonym of the
given word: Parsimony
a) Devious
b) Generosity .
c) Hasty
d) Stupor
ost appropriate synonym of

g0. Select the m
d: Abundance

the given wor

a) Dearth

p) Profusion P
c) Scarcity e

d) Paucity

g1. Select the CORRECTLY spelled word.

a) Harasment |

b) Harassment o
—n x‘f:ﬁ.s.

c) Harrassment .o

d) Herassment

NCORRECTLY spelled word.

P

82. Select |
Territory p
Governof M‘;’ﬁ
c) Aplication e

d) Representation

7
" 2

83

85.

86.

87.

g8. Which of the follo

_Select the most appropriate meanin

. Rearrange the following sentences in a

meaningful order:
A. they run down the centre of the roads.

B. Calcutta unlike other cities kept its

trams.
C. as a result, there was horrendous

congestion
D.to pring ease in the city, they decided to
build an underground railway line.

a) DCAB

b) CBDA

c) BACD

d) BDCA

g of the

given idiom: Point blank
a) Rarely
b) Very deM direct -
c) Atalast moment o

d) Leave quietly

Select the most appropriate meaning of the

given idiom. In line with
In social service

b) Inaqueue .
¢) In opposition s
d) In agreement

Improve the underlined part of the given

sentence-
The teacher asked them to stop write as

soon as the peon rung the bell.
a) Tohave stopped writing

by To stop writing

c) Tostop written

d) No improvement

My mother made someé crunchy potato

chips. Here the adjective is =

a) my mother

b) crunchy

c) potato

d) none of the above

wing is @ pronoun?

lowly
b) Them /
c) Brightly
d) Happily

89. Which of the following is @ VERB?

a) Cough

b) Beautiful
c) Aggressive
d) Cruel




80. Which of the following words means "to
find out"?
iscover B
b) Lose

c) Hide (al Yo’
d) Ignore

91. Which of the following words means "to
reduce in size, amount, or importance"?
a) Increase

b) Expand o

Decrease "

P

d) Eniarge + f e

92 What is the object in the sentence "The boy

kicked the ball"?

a) The —

b) Boy d_'/;;"
¢) Kicked I
d) Ball

93. Which of the following is a complete
sentence?
a) Running through the park
b) She ate a sandwich
c) Because it rained
d) Happy birthday
)
94. Which of the following is a compound
sentence?
a) The cat ran away
b) |love pizza

c) John went to the store, and Mary stayed

home
dy The sun is shining

95. Which of the following is a preposition?
af Walk
b) Laugh
c) Below
d) Watch

96. Which of the following sentences uses

proper capitalisation?
The United Kingdom is a country in
Western Europe.

b) The united kingdom is a country in
western Europe

c) The United Kingdom is a country in
Western europe.

d) None of the above.

»ri;_/

97. Which of the following sentences is written

in the past tense?
a) Hewillgoto the beach.
h)-He goes to the beach.
¢) Heisgoingto the beach.
d) He wentto the beach.

08. Select the most appropriate option to fill

in the blanks.
She her daughter to school

before she goes to work.

a) Takes

by Taking

c) Has taken

d) Took
_gelect the correct indirect form of the given
sentence?

« poonam, | will wait for you in front of

the school gate,” Vidushi said.

a) Vidushiis telling Poonam that she has
waited for her in front of the school
gate. '

b) Vidushi has told Poonam that she is
waiting for her in fornt of the school
gate. :

¢) Vidushi has told Poonam that | would
wait for her in front of the school gate.

d) Vidushi told Poonam that she would
wait for her in front of the school gate.

100. Select the correct direct form of the

given sentence?

The stranger asked where he could

spend the night.

a) The stranger said, “where can | spend
the night?” '

b) The stranger said, “where | can spend
the night?”

oy The stranger said, “where | could spend
the night?”

d) The stranger said, “ where he could
spend the night?”

v/“\
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